97 +10 =

1 mark

197 x 3 =

1 mark

4.3+ 3.1=

1 mark




42 x 2 =

1 mark

616 + 742 =

1 mark

6X6=

1 mark




403 -6 =

1 mark

3.4+6.02=

1 mark

2X6x%x4=

1 mark




ol
+
aljw
I

1 mark

330 +11 =

1 mark

13.6 x 10 =

1 mark




1 mark

P8 70,000 - 500 =

1 mark

720 -9 =

1 mark




17

630 +9 =

1 mark

40% of 1,600 =

1 mark

223 x4 =

1 mark




20

loo) I
I
o

1 mark

85,023 + 15,687 =

1 mark

5739 + 4=

1 mark




50% =

100
1 mark
4 5
X 6 0
Show
your
method
1 mark
04+2.7=

1 mark




Show
your
method

2 marks

1 mark

5% of 560 =

1 mark




28

Show
your
method

85,023 + 15,687 =

1 mark

2 marks

1 mark




S 23 x4-28=

1 mark

w N
-
AN
1

1 mark

1 mark




